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Chemistry exam - for grade 12 - advanced - the second semester - 2020

Student Name: Optional ............cccunennee. Duration : 20 min Total marks: 20

Unit : Oxidation and Reduction -lesson 1

Q 1: Arrange the following in ascending order according to the oxidation number of the sulfur atom: (4 marks)

(each space one mark )

CaS , Na,SO,

the lowest

ooooooooooooooooooooooooooooooooo

..... . veveerenene The largest

Q 2: Determine the oxidizing agent and reducing agent in the following equations ( if present ) : (8 marks )

equation

Br, + SO, + Na,SO, + 2H,0 =—>» 2H,SO, +2NaBr

oxidizing agent reducing agent

Ca(OH), +4 NaOH +4 ClO, + C = 4 NaClO, +CaCO; +3H,0

K,MnO, =—2» MnO, + KMnO,

AgNO; + NaCl =—> AgCl + NaNO;

Q3: Choose the inconsistent alternative below and then justify your choice:

(4 marks) (the alternative is two marks and the justification is two marks)

MnO,; —>» Mn* , SO, —>» S0, , NO;" =—> NH; , SO, 2—>» SO,

The alternative is :

, The justification : ........ccooevervivennveereenanas

Q 4 : If you know that sulfur has oxidation numbers (-2, 0, +4 and +6), do you expect sulfur (-2) to behave as an

oxidizing agent or reducing agent ? ........ccoeveivieveereererenenenenenennns

Justify your Answer .
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